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GCSE Exam Questions: Types of Sampling

1) (a) A pharmaceutical company is testing a new drug. 1000 people are participating in the clinical trials. 

350 people will receive a placebo proportional to the population.







How many adults over 50 years old received the placebo?

(b) How many females between 18 and 30 years old will receive the new drug for the trial?

(2)

(5 marks)

(3)

2) (a) A supermarket would like to find out how much money their customers spend on average per week. 

On average, they have 12,000 customers per week. They decide to ask a sample of 1500 customers 


as they enter the store, chosen using a systematic sampling technique. Calculate the interval to select 

each data entry for the research.

(b) What are the disadvantages of using this type of sampling technique with customers entering the 

store?

(1)

(2 marks)

(1)
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GCSE Exam Questions: Types of Sampling

3) (a) A private golf club would like to find out how many times their members play golf per week. The 

club has three types of memberships: Bronze, Silver, and Gold. They decide to take a stratified 

sample of 500 members proportional to their type of membership.







How many members will be chosen from each type of membership?

(5)

(b) The members are selected using a systematic sample within each category. Calculate the interval for 

the sample for the Bronze membership category.

(1)

(6 marks)
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GCSE Exam Questions: Types of Sampling

4)

(a)

A flower shop sold 325 bouquets of flowers for Valentine’s Day. They take a sample of their 

customers, stratified by the feature flowers in their bouquets. The table below shows some of the 

information about the sample.








Complete the table

(5)

(b) Will the sample give an accurate representation of the population? 


Explain your answer.

(2)

(7 marks)
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GCSE Exam Questions: Types of Sampling Answers

Question Answer Marks

1) (a) A pharmaceutical company is testing a new 
drug. 1000 people are participating in the 
clinical trials. 350 people will receive a 
placebo proportional to the population.






How many adults over 50 years old receive 
the placebo?

 

Adults over 50 = 226



               350 = 79.1



79 adults over 50






(1)



(1)



(1)

     (b) How many females between 18 and 30 years 
old will receive the new drug for the trial?


89 females 


(1)



(1)

2)  (a) A supermarket would like to find out how 
much money their customers spend on 
average per week. On average, they have 
12,000customers per week. They decide to 
ask a sample of 1500 customers as they enter 
the store, chosen using a systematic sampling 
technique. Calculate the interval to select each 
data entry for the research.


(1)



     (b) What are the disadvantages of using this type 
of sampling technique with customers 
entering the store?


People may not want to participate in the 
study and so values may be empty.


(1)



3)  (a) A private golf club would like to find out how 
many times their members play golf per 
week. The club has three types of 
memberships: Bronze, Silver, and Gold. They 
decide to take a stratified sample of 500 
members proportional to their type of 
membership.





How many members will be chosen from 
each type of membership?

Population = 1400 (1)



(1)



(1)



(1)



(1)



     (b) The members are selected using a systematic 
sample within each category. Calculate the 
interval for the sample for the Bronze 
membership category. Population = 1400

(1)
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GCSE Exam Questions: Types of Sampling Answers

Question Answer Marks

     (c) Will the sample give an accurate 
representation of the population? Explain 
your answer.

 

No

The sample is too small

(1)

(1)


4)  (a) A flower shop sold 325 bouquets of flowers 
for Valentine’s Day. They take a sample of 
their customers, stratified by the feature 
flowers in their bouquets. The table below 
shows some of the information about the 
sample.






Complete the table


4    25 = 100 Lilies



325 - (200 + 100) = 25 Carnations



25     25 = 1 Carnations in sample



8 + 4 + 1 = 13 Total in sample


(1)



(1)



(1)



(1)



(1)




Where to go next?
For more diagnostic questions, and GCSE maths revision resources and 
worksheets to support students in fixing any misconceptions take a look 
at the free Third Space Learning GCSE maths revision pages.



Scan the QR code to discover our library of FREE GCSE maths revision 
resources

Do you have KS4 
students who need 
additional support in 
maths?
Our specialist tutors will help students to develop the skills they need to 
succeed at GCSE in weekly one to one online revision lessons. Trusted 
by secondary schools across the UK.



Visit thirdspacelearning.com to find out more.

https://thirdspacelearning.com/gcse-maths/
https://thirdspacelearning.com/

